


H = 0 &8 AFS H A A
2021 S 20 A LB N QAAIE =R
SN QMAEEXG
M 2P olmpt RE
CHe: 22N HOAL SE (el &2
_ - bS]
2AH -3 ..SA(ZAH) - HIRAIS - BHAES Ofl AFoH om'&% Hunsz2
QMALE FXICH 319,987 7,102,714 NB,782,727
2o olTp = 265,560 7,048,560 16,783,000
22 HOAIM = 265,560 7,048,560 16,783,000
SOtAH QMAIE T2 ALY 208,060 153,560 54,500
201 L2 9| 194,060 39,560 154,500
01 AL 22| H| 189,060 34,560 154,500
O4&( QMY 0|IEI ZEES
150,000, 0002 * 14! 150,000
OAE HURF=XEZ Xtz Y X
880,000 x 122 10,560
OX2Ks =4 100,000 x2001%33] 6,000
ORI U2 ¢ 500,000 *501 %43 10,000
OE=E2H = 50024 5,000 *23] 5,000
OAS BEEXIAL AZE 7 5,000,000 *1A! 5,000
OZZIY SANE 2,500,000 x 14l 2,500
02 =223 5,000 5,000 0
OAT AREXE Xt S22l
5,000,000 * 14l 5,000
202 O H] 9,000 9,000 0
01 2LH0ibl 9,000 9,000 0
OAT A% =& o] 100,000 *321+303] 9,000
203 AR E= | 5,000 5,000 0
03 Al ERYRFXH| 5,000 5,000 0
OAMTHR JR=A 5,000,000 * 14l 5,000
SHOIA YN ME A (QMIASARE X PEA ) (A 57,500 7,000 50,500
Al)
201 LBt 9| 47,500 7,000 40,500
02 222 47,500 7,000 40,500
OZZR2(HIIL=2 2L Q- )12
1,900,000 * 12 22,800
OAtGta= ST Al E2+12)H 200,000 %12 2,400
OQHHZIR|CHE (D], AL, S2I|) 14l
650,000 %12 7,800
OZXEZ2 HHAZH*1Al 2,500,000 2,500
OEEZH A AE*121 2 1,000,000 * 12 12,000
401 AlEH| LY 10,000 0 10,000
01 Al&HI 10,000 0 10,000
O K22l *14l 10,000,000 10,000
SHESAAH| (QMAL T ZXICH) 54,427 54,154 273
ol 2| 31,223 30,266 957
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